T EMEBE

= R BEER
S8R AT - PATRRE
VA S50 8k (KJ) 5m65 A R CE L) 1996
g (GR) 5mA5 U ISR ACCUSE D) 2013 6J112H 10:00 & W
g | st . L 3@ | b7 8 = .
6L | BIE | o - | R4 iz 1=H | 2[EH | 3EH b | st 46l H | 5RIH | 6[E1H | ik ap/h
S 4m76 | 4m63 | 4m82 | 4m82 6 5m05 | X X | 5m05
1 45| 1660|0tiE FEE () IKEF P 0.2 ] 0.6 | +2.2 | +2.2 +1. 1 +1. 1
R VAT 4m48 | 4m55 | 4m76 | 4m76 3 4m97 | — /| 4m97
2 48]  869|K2H  BEIE (3) AR +0.3] -0.5]-1.6] -1.6 +2.0 +2.0
A T 4m64 | 4m87 | 4m94 | 4m94 3 X [ 4m76 | X | 4m94
3 47] 2570 k1% £ (2) ESAL -0.8 ] -0.1 ] +0.8 ] +0.8 +1.8 +0. 8
155 A h 4m83 | 4m77 | X | 4m83 7 4m76 | 4m66 [ X | 4m83
4 44| 1352/ FF A (3) & 0.4 | +1.0 -0.4 +3.0 | +2.3 -0.4
T Rk 4m76 | 4m64 | x| 4m76 4 X | 4m81 | 4m28 | 4m81
5 43| 2130|FEEE  HiEE(3) YRl LA +1.1 | +0.6 +1. 1 +2.6 | 1.3 | +2.6 *F1
N X | 4m81 X | 4m81 5 — — /| 4m81
6 49| 2651 %[ HiH(3) 3] -0.1 -0.1 -0.1
TR 4m63 | X | 4m50 | 4m63 1 4m69 | X | 4m64 | 4m69
7 41| 2289|¥m M (3) 5 -0.5 +2.7] 0.5 +0. 3 +1.6 | +0.3
¥eEh )F 4m65 | 4ml7 | 4m45 | 4m65 2 4m43 | 4m36 | 4m65 | 4m65
8 37] 2745l Fi(2) JREH 1.1 ] +1.3 | +1.5 | -1.1 +1.4 | +3.5 | +0.4 | -1.1
£ VAt 4mb54 | 4m45 | 4m62 | 4m62 4m62
9 42| 221 7|REE SR Bl 0.0 | 0.7 | +1.1 | +1.1 +1.1
B=Fh AR X | 4m61 X | 4m61 4m61
10 46| 2069|H & (3) HTH -1.0 -1.0 -1.0
Wz v 4m59 | 4m57 | 4m58 | 4m59 4m59
11 40| 1135k A () I Fn 0.0 | +1.0| 0.0 | 0.0 0.0
th 2% X | 4m29 | 4m52 | 4m52 4m52
12 36] 1079|#AM  HkE (3) SEJE +1.9 | +0.9 | +0.9 +0. 9
ayhy af 4m11 | 4m45 | 4m32 | 4m45 4m45
13 23| 2566 EKT R (2) JERF -0.8| -1.0| +0.6 ] -1.0 -1.0
e Wk 4m36 | 4m34 | 4m44 | 4m44 4m44
14 39| 1162|@mA  EHA3) IEFnH 0.3 | +1.1 ] +1.2 ] +1.2 +1.2
Wk T 4m26 | 4ml5 | 4m44 | 4m44 4m44
15 33] 1965|F/ A AR (3) KARH 0.5 -1.4 | +2.6 | +2.6 +2. 6 *F1
Wth ¥ 4m03 | X | 4m44 | 4m44 4m44
16 21| 5667 R #T- (D) 7 AU — kY -0.6 +2.0 | +2.0 +2.0
tn HHk X [ 4m36 | X | 4m36 4m36
17 271 380l 3ExFE(3) BAH -1.7 -1.7 -1.7
4m36 | X X | 4m36 4m36
17] 114 181788 =32(3) )1k +0. 7 +0. 7 +0. 7
NAEE 4m35 | 4m26 | 4m08 | 4m35 4m35
19 19] 2371|EH KO B -0.3 | +0.6 | +1.6 | -0.3 -0.3
NI 4m08 | X | 4m34 | 4m34 4m34
20 29] 1714PPIR D 5> (3) JUR -0.9 +2.8 | +2.8 +2.8 *F1
YeEh Ftn 4m30 X 4m30 | 4m30 4m30
21 106] 1904|ilA T (2) HEH -0.3 +0.9 | 0.3 -0.3
VEEY 3m85 | 4m22 | 4m24 | 4m24 4m24
22 22| 1667|#EHE MR (3) I EF -0.8] -0.8 | +1.8 ] +1.8 +1.8
A I 4m24 | 4m05 [ x| 4m24 4m24
23 38] 1792 KM AE (2) [ -1.3] 0.0 -1.3 -1.3
2 ABL 3m80 | 4m24 | 4m04 | 4m24 4m24
24 20| 1329|fa7k  FiFE (3) (LFEp +0.2 | +1.0 | +1.7 ] +1.0 +1.0
¥eEh v X | 2m74 | 4m23 | 4m23 4m23
25|  113| 2539fiiA  #EEQ) E 0.1 ] +0.1 ] +0.1 +0. 1
e RE] 4m05 | 4m19 [ % [ 4m19 4m19
26]  104| 2561[fERE FiT(2) JEHT +1.1 ] -0.8 -0.8 -0.8
YeEh vty X | 4m07 | 4m18 | 4m18 4m18
27 15| 831 LAY # i (2) IR -0.2 | +0.3 ] +0.3 +0. 3
I 2] 4m15 | X | 4m10 | 4ml5 4m15
28 12 1972|piE T L (3) KARH -0.4 +0.4 | 0.4 -0.4
EVEY X X | 4m15 | 4ml5 4m15
29 16 1524|768 W (2) =L +0.4 | +0.4 +0. 4
EVEE dml4 | 4mo6 [ % | 4ml4 4m14
30 4| 2536[FE MM B (1) -EH -1.4 ] 0.4 -1.4 -1.4
R 3m60 | 4mll | 4m09 | 4mll 4m11
31 25|  87TI|H DAEITIAE (3) AR -0.4| +1.8] 0.0 | +1.8 +1.8
SENER 4m07 | 4m09 | 4m05 | 4m09 4m09
32 18] 2112|F-F #i (2) fel e an 0.0 | +0.9 ] +0.5 | +0.9 +0. 9
b 7y 3m61 X | 4m09 | 4m09 4m09
33 6] 171935V (2) JURL —0.4 +0.2 | +0.2 +0. 2
AT U 3m74 | X | 4m08 | 4m08 4m08
34 3| 157slaEE B (3) AE -1.7 -0.7] -0.7 -0.7

JL#5 DNS: &5 NM:EEEREL #F1:1 B E AR &S




T EMEBE

= R BEER
S8R AT - PATRRE
IR T (K]) 5m65 Fify fE (A L) 1996
S LBk (GR) 5m45 =R A G ) 2013 6/ 12H 10:00 ¥ %
g | st . . 3@ b7 8 = .
| BRE | - K4 iz 1=H | 2[EH | 3EH b | st 46l H | 5RIH | 6[E1H | ik apsh
YeEh Uiy X X | 4m08 | 4mo08 4m08
35 26] 2300[1UA  $5E (2) IEEE +1.3 | +1.3 +1.3
TN m03 | X | 4m06 | 4m06 4m06
36 17]  878|FTH __ EAli(2) S -0.4 +1.0 | +1.0 +1.0
VR 4m04 | 4m01 [ % | 4m04 4m04
37 8| 1290|{FHiE i (2) W +1.1] -0.5 +1.1 +1. 1
1)z tf) 3m79 [ X | 4m04 | 4m04 4m04
38 99| 3562\ ERE3ET (1) JEHT -0.6 +1.1 ] +1.1 +1. 1
I F T 4m01 [ X | 4m01 | 4mO01 4m01
39 14 824|% 1 % (3) IR 0.0 +0.1] 0.0 0.0
Lhy At 3m33 [ X | 4m01 | 4m01 4m01
40]  109] 2082|511 ®3E(2) HTH -0. 1 +0.2 | +0.2 +0.2
ENS 3m91 X X 3m91 3m91
41 11] 5260|&8k  =F1(D PBASE -0.5 -0.5 -0.5
TR 3mol [ X X | 3m91 3m91
41 61] 1082|HHH M (2) SEJE +0. 7 +0. 7 +0. 7
v R 3m90 | X x| 3m90 3m90
43 64]  792|H FxE 1) fodbd +0. 6 +0. 6 +0.6
158 740 X x| 3m89 | 3m89 3m89
44 10| 2109]#hH AL (2) Shilg -0.2 | 0.2 -0.2
A 790 3m8s | X x| 3m88 3m88
45 o1 1437|%H  EAEB) VY H iR -1.1 -1.1 -1.1
Abg 749 3m85 X X 3m85 3m85
46 92| 3691|pHEE  =FI () WEH P +0.3 +0.3 +0.3
w2 73 3m85 [ X X | 3m85 3m85
46]  111] 1007|ZeFEEAH (2) AT -0.5 -0.5 -0.5
S X x| 3m84 | 3m84 3m84
48] 107| 202503 mE©) Bl +0.3 ] +0.3 +0. 3
795 2f 3m83 [ X X | 3m83 3m83
49 66]  97T1[HE &G kLA -0.9 -0.9 -0.9
Wby 3m82 [ X X | 3m82 3m82
50 80| 2440k B M3 (2) = pN L 0.0 0.0 0.0
Wp w2 3m82 [ X X | 3m82 3m82
50 95|  739|EFHMH  EIK(2) BT +0. 2 +0. 2 +0. 2
) AFh 3m8l [ X X | 3m81 3m81
52|  112| 1331|A&M —HE3) (LFEp —0.6 -0.6 -0.6
) 7Y/ X [ 3m78 ] X | 3m78 3m78
53 9| 1988|4k ¥ (2) KARH -2.3 -2.3 -2.3
S X [ 3m77 | X | 3m77 3m77
54 52| 2132|tEH I (3) YRl LA -1.1 -1.1 -1.1
. 2f X [ 3m73 ] X [ 3m73 3m73
55 56] 967 KiT  HK (3) kLA +1.5 +1.5 +1.5
Ay 3m73 X X 3m73 3m73
55 89| 2535|Fk  F.o (D) —i 0.0 0.0 0.0
RIEELL 3m68 | X X | 3m68 3m68
57 59| 1044E  HRAE (2) B IE +0.6 +0. 6 +0. 6
o E )F 3m6s | X X | 3m68 3m68
57 60] 1049|115 FiZ=(2) B IE +0.5 +0.5 +0.5
Bhh Ak 3m68 3m68 3m68
57]  101] 1326{HT ¥ (3) (LFEp +0. 4 +0. 4 +0. 4
o VAT 3m67 [ X X | 3m67 3m67
60] 100 s832|FnE B () I H +0. 3 +0.3 +0.3
TS 3m66 | X X | 3m66 3m66
61 88| 1376[dbJI T (3) Al +0. 3 +0. 3 +0.3
Tt vy 3m62 X X 3m62 3m62
62 97| 2382| i  EAL(2) EnEg +0.5 +0.5 +0.5
R 3m59 | X X | 3m59 3m59
63 96| 2218[#HAFE W H(3) Bl +0.4 +0.4 +0.4
LEVAEVAE N ¢ 3mb8 X X 3mb8 3mbH8
64 65| 1921|FEkk  ¥HEE(3) sk +0. 4 +0. 4 +0. 4
NI F afa 3m55 | X X | 3m55 3m55
65 63| 791D AT (D) fodb 0.0 0.0 0.0
R 3m54 | X X | 3m54 3mb4
66 1 1491040 EEQ) Edan -1.3 -1.3 -1.3
ITERERAD 3m54 | X X | 3m54 3mb4
66] 103| 1173p)I#E i (2) IEFnH +0. 7 +0. 7 +0. 7
I )y 3ms2 [ X X | 3m52 3m52
68 761 108691 2 (2) JEE -1.3 -1.3 -1.3

JL#5 DNS: &5 NM:EEEREL #F1:1 B E AR &S




T EMEBE

GRS S S
FREREAE - AT R

IR T (K]) 5m65 Fify e (& H 1L ) 1996
S LBk (GR) 5m45 =R A G ) 2013 6/ 12H 10:00 ¥ %
g | st . . 3@ b7 8 = .
| BRE | - K4 iz 1=H | 2[EH | 3EH ~ab | st 46l H | 5RIH | 6[E1H | ik apsh
g 3ms1 [ X X | 3m51 3m51
69 13| 1381|HaIs N3 (3) Al -0.1 -0.1 -0. 1
T 3m49 [ X x| 3m49 3m49
70  110] 1754|k E Ex (2) ik -0. 4 -0. 4 -0. 4
1) w2 X [ 3md1 | X | 3md1 3m41
71 86| 2495|HHF  ELH (3) AJETE 0.0 0.0 0.0
I X [ 3m32 ] x | 3m32 3m32
72 70{ 735\l fEHE(2) BEH +1.0 +1.0 +1.0
IR K VF 3m28 | X X | 3m28 3m28
73 08| 1712|HFH  BEX () JUR -0.5 -0.5 -0.5
=y 7t 3m27 X X 3m27 3m27
74  108] 2711 HHEA(2) fok o L +0. 2 +0. 2 +0. 2
7ok 47 X [ 3m19 ] x [ 3m19 3m19
75 62| 1519|511 fra(2) A +0. 2 +0. 2 +0. 2
FYV =Y 3ml9 [ X X | 3m19 3m19
75 69| 2755[dbM  HIE (D JREH -0.3 -0.3 -0.3
vy bk X x| 3m15 | 3mi5 3m15
77 51| 2191k FfE (2) Bl -1.3] -1.3 -1.3
9y VA 2 3mi2 [ X X | 3m12 3m12
78 83| 2914t st (1) A Fn -0.7 -0.7 -0.7
B4 nF X [ 3mi1 | X | 3mll 3ml1
79 67| 2894l & #E (D) HEFE P +1.1 +1.1 +1.1
IS 3mll | X X | 3mll 3ml1
79 85| 1893|Ftil  EA(3) e -0.5 -0.5 -0.5
YE) A0 3ml0 [ X X | 3ml0 3m10
81 73| 1480| FHF Lo (2) 2 -0.6 -0.6 -0.6
1917 7 3m09 [ X X | 3m09 3m09
82 53] 2891|HE ) HEH -0.4 -0.4 -0.4
HE 7Y 3m07 | X X | 3m07 3m07
83 90| 20762 HEHE(2) HTH -0.2 -0.2 -0.2
TIWAF < 3m02 X X 3m02 3m02
84 74] 1592|iH EE Q) A -0.6 -0.6 -0.6
IE )Y 2m95 [ X x| 2m95 2m95
85 75| 1588|537k % (2) A -0.5 -0.5 -0.5
RS om89 | X x| 2m89 2m89
86 54| 2892|0tiE  wE (1 WEF -1.2 -1.2 -1.2
R om89 | X x| 2m89 2m89
86 77] 14811 m (2 o adan -0.3 -0.3 —0.3
FoEh om87 [ X X | 2m87 2m87
88 57| 10420 (2) B IE +0. 3 +0. 3 +0. 3
25 47 om85 | X x| 2m85 2m85
89 72] 1434|BH < 5 (3) Y HHirg 0.8 -0.8 -0.8
Yy )7 om84 [ X X | 2m84 2m84
90 79| 1841/hBk THE (2) - B +0. 2 +0. 2 +0. 2
YNR b 2m80 X X 2m80 2m80
91 55| 2987|5H 4 T (1) E +0. 7 +0. 7 +0. 7
<5 ) X [ 2m76 | X | 2m76 2m76
92 50| 2992|MTH  F1Th (1) EHEE -0.2 -0.2 -0.2
Y% T/ A om7l [ X X | 2m71 2m71
93 71 1607 ILf  ZEE(2) fige o +0. 2 +0. 2 +0. 2
Ty om66 | X X | 2m66 2m66
94 87| 2738 H 5 (3) JREH +0. 9 +0. 9 +0. 9
Abg 749 2mbb X X 2mbb 2mbb
95 78] 1406|JHiE  EAL(2) Al +0. 1 +0. 1 +0. 1
A oma7 [ X X | 2ma7 2m47
96 58] 2994|# -H(1) i +0.5 +0.5 +0.5
VBT AR X X X
24| 2572UBH  fEHE QD) EkT NM
INZEEvi] X X X
34| 1940[FFH MEH] (2) iUmban NM
)0 ¥ X X X
105] 1891|®r 0 Fivb (3) E)LA NM
ISV 122
2| 1739\ EAEG) |t DNS
VITNEDR
5| 17378 M ==FE Q) 1 DNS
=Vh7 agh
7] 2193|Fk EBEQ Bl DNS

JL#5 DNS: &5 NM:EEEREL #F1:1 B E AR &S




T EMEBE

GRS S S
FREREAE - AT R

IR T (K]) 5m65 ! e (& H 1L ) 1996
£Endxk (GR) 5md5 B EAE (e 2013 6H12H 10:00 & Bk
ks |t | o - P Gl i ‘
inr | 2E | o - K4 s UCIE CIE T A e N RN RN b
=y #)F
28| 480| P AL (2) B Fn DNS
19 200
30| 2128|tkitE FEG) [k DNS
FhE b el
31| 2895\ HZEQ) A ~f DNS
A% THY
32| 2355[8AH 20 (2) —H @y DNS
UANT VY EEa
35| 2196[Fbk kT (@ |k DNS
EMUIV
68 1849|751l #EAL() |EHEH DNS
795 F13
81| 7|z mEE Rt DNS
an¥ ayp
82| 2028 E#EGQ) (TG DNS
Yy <
84| 1606|1L)I1  #E(2) M DNS
TV x)
93| 1505|Bk[M AL |EAEd DNS
ava 74+
94| 24960/ N ER () |AJRPET DNS
Y F vy
102] 119l Lx% @  |iEFH DNS

JL#5 DNS: &5 NM:EEEREL #F1:1 B E AR &S




